H & 0l & AHS B Ml A

20238 20ilaF et M
FA SFLH
B K|oisel AW B (SAUHASM/ S - SE)
ol DEE sttE daD|gHS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
sS4 24,976,453 19,252,926 5,723,527
= 3,434,059
Jl 2,979,262
Al 18,563,132
Ne=g AW 82 (sHllYdsd/=Y - &) 24,791,865 19,074,574 5,717,291
= 3,434,059
7l 2,979,262
Al 18,378,544
VS sthE daeas 5,321,649 514,802 4,806,847
Il 99,333
Al 5,222,316
SEAY 29 82,718 82,118 600
201 Ler=23 | 18,238 18,238
01 At2teltl 18,238 18,238
Ogegt+=ZHI 10,180
osBAY BEE= & Y HH
4,000,000 4,000
o=NTHCHRE 2T A FIOKtE Y2t
2,000,000& 2,000
otz =g 350,000 *4& 1,400
oSHFL AR X HEW M
2,780,000& 2,780
o288+ 2,800
0sg - SE - ASUEENY S 2g+E
100,000 x 142 +23] 2,800
O=gH| 5,258,000& 5,258
202 04| 36,280 36,280
01 2K 36,280 36,280
OZ2U 048l 22,280,000 22,280
o220l 14,000,000 14,000
203 HR=H] 4,400 4,400
03 A=A PR A 4,400 4,400
OsEAIHFL 4,400,000& 4,400
204 AR A 13,800 13,200 600
03 S3g =3l 13,800 13,200 600
ol syl 50,0002 x23E *12& 13,800
310 =2/01& 10,000 10,000
2 =H=Fs= 10,000 10,000
O=MgA =7 (FA0) 23
10,000,000 10,000
sel &Hl XA 80,000 80,000 0
307 elztol & 80,000 80,000
02 2B HAIAE & 80,000 80,000




od
i’
oF
uJ

-

KIO

Hlw

936
936
936
5,311
31
31
5,000
5,000

MEE
Ofl &k2h

80,000
80,000
80,000
10,920
10,920
10,920
101,145
12,225
12,225
28,920
28,920
60,000
60,000
120,619
120,619
120,619

Ofl &F2H

30,000
50,000
80,000
80,000
80,000
80,000
11,856
11,856
11,8%
11,8%
106,456
12,225
12,225
12,225
3,360
2,520
2,040
825
1,980
1,000
250

250
29,231
29,231
29,231
19,800
9,431
65,000
65,000
65,000
120,619
99,333
21,286
120,619
99,333
21,286
120,619

Jl
Al
Il
Al

- HyS

- SRA(E) - HIRAY

S - B

11,856,000
3,360,000&
2,520,000
2,040,000

825,000
1,980,000
1,000,000&

250,000

250,000

19,800,000
9,431,000

30,000,000&
50,000,000&
80,000,000&
65,000,000&

2|

=

o

X+
&

]
QI24Hl X

sl

o
2|

usl

AEIHA

UES

2|
t

At Xl

=
=)

(=]
[uind

H
|

d=2c| RE=AH

=

X

+

N
A

OAEEHIR X
01 AlZH|

401 AIZHIZ 20

307 212+01&
307 212t01™
307 212+01™

308 At

Ab SR

Ki

EH

<

0o

=X0l

(

=l

o
)

b

OsX0Is2
ikl

SXOISAEN XA

sgolo
=0t &

99,333

120,619
21,286

Il
Al

120,619,000

[

51




FA SFLH

B K|oisel AW B (SAUHASM/ S - SE)

ol DEE sttE daD|gHS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
c|H =clAlEd | 22 40,000 40,000

403 X SHHMSAH=01H 40,000 40,000
01 A= 2L 40,000 40,000
2220 S2AE ST/ T
40,000,000& 40,000
s=gX 4,800,000 4,800,000
308 AHRIEHMSOIE 4,800,000 4,800,000
01 HAHHBSEXS 4,800,000 4,800,000
Ostl+d X& 4,800,000,000& 4,800,000
Csus 243 N 2,792,925 2,476,120 316,805
= 922,440
Jl 242,112
Al 1,628,373
J2g AEs a3yl N3 69,900 70,000 A100
Jl 69,900
308 AtXIEMSOIE 69,900 70,000 A100
) 69,900
01 AXH B2 LS 69,900 70,000 A100
OJizg A== dddl Ad
69,900,000 69,900
Jl 69,900
FIIEHIZ X232 HEA) 526,000 526,000
308 XXM SOIA 526,000 526,000
01 AXEN B2 LS 526,000 526,000
OSII1EHIZ X (2SH HEtAIY)
526,000,000 526,000
EHEH K& 364,000 333,000 31,000
= 281,000
Al 83,000
308 AtAIEMSOIE 364,000 333,000 31,000
= 281,000
Al 83,000
01 AXEH B EES 364,000 333,000 31,000
OE2MEHM K& 364,000,000 364,000
= 281,000
Al 83,000
detd =8 |4 615,745 449,520 166,225
307 elztol & 232,925 0 232,925
02 2B YAIHE £ 232,925 0 232,925
OH galigd RUS(=8)LH XA
232,925,000 232,925
308 AtXIEMSOIE 382,820 449,520 266,700
01 HAHHBSEXRS 382,820 449,520 266,700




od
i’
oF
uJ

S S S e < < S e S8 S8 8 8
© © o S =1 =1 S S
=0 mAM.., m, m © Mu 7o) © ©
Ko
E|
B
© © © S 8 S 8 38 S © 8 8
~ = = =] =] =] S =]
[aN] [aN] [aN] [Ye) < < — —
WH3r & . . & Q
il
KIS
LIS 8 818 8 8|8 S 838838888888 8 38|88 8|88 8|8 S8 88 8 8 8 3818 8 818 S
VDS D|D®S D © S DK OARK OIS N DHDAS S SIS Qe ©onmnosS S omonlg o ols S
al
<
S
m = m = m =< m =< m = =< = m = m =< =< m =<
o o o o o o
g g g g g g
y |5 : : = s :
K [aV) (@) Lo [®]
S = =) &
. 0
7] %0 4
2 & = m
= = 4] oFJ =
. ] » = = .
— - o KM 0 0
= ol m < E e 0 0 0 7o
B _ & a0 K s = 40 A0 ! Ko
= K A KM ng
oF |&n :M@ cm_o Mm wm 3l mm 0 mlw Mv :m_o Mm mlw
0. R ® b < 0 H0 =] D 9 - 0 R o
S T = = X i 7! 2 & % 20 D a & 3 = = d
el Il o Ik > g0 0 _ 0p EIRRL oy 0 a3l ol Ho
o R = R < o = A= ol %) o T = = =
RO )| R ~ R ol B o) 5) W al ol = R # R = R R
* O s [oo) — O o) ~ al O Ho — - O fos) O 0 — O
X < ] e a0 ) < ) S < < ] e
I a0 Ho 0




FA SFLH
B Km0l AW B (SHUNSSM/ 5L - SE)
=R Esus 243t AR (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 238,000
Al 51,000
SEUE AHIA 112,000 112,000 0
= 80,000
Al 32,000
308 AXIHSOIA 112,000 112,000 0
= 80,000
Al 32,000
01 HAHHBSEXRS 112,000 112,000 0
OsENs=EIE 112,000,000 112,000
= 80,000
Al 32,000
HAsHE gda X3 214,300 200,300 14,000
= 150,000
Al 64,300
201 er23| 4,300 4,300
01 AtR22te|Hl 4,300 4,300
OAsHE A £E3 4,300,000 4,300
308 AtAIEHMSOIE 210,000 196,000 14,000
= 150,000
Al 60,000
01 XN EES 210,000 196,000 14,000
OFsHE 8435t N2 210,000,000 210,000
= 150,000
Al 60,000
sE2&ZFH 54 N 46,800 58,898 12,008
= 28,800
Al 18,000
308 AXIMSOIA 46,800 58,898 A12,098
= 28,800
Al 18,000
01 X SHHBAEXS 46,800 58,898 12,008
OsE2Z=H (AR 23H]) X
46,800,000 46,800
= 28,800
Al 18,000
sEZZFHSE(HE0SE2E0HY) N 3,250 0 3,250
= 2,500
Al 750
308 AIXIHHISO0IA 3,250 0 3,250
= 2,500
Al 750
01 HASHHBSEXS 3,250 0 3,250




FA SFLH
B Km0l AW B (SHUNSSM/ 5L - SE)
=R Esus 243t AR (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OsZzZ=HS4(ME0e 28X
3,250,000 3,250
= 2,500
Al 750
sEAZTHSL(YUHMHIA R K) XA 1,710 0 1,710
= 1,140
Al 570
308 AHXIHMSO0IA 1,710 0 1,710
= 1,140
Al 570
01 AXNB 2 LS 1,710 0 1,710
SE2AZFHSHE(LULAHIA HHNF)
A& 1,710,000& 1,710
= 1,140
Al 570
SERSAE 52,500 67,500 /15,000
= 35,000
Al 17,500
308 XXM SOIE 52,500 67,500 /15,000
= 35,000
Al 17,500
01 AXEN B2 LS 52,500 67,500 15,000
Os&xs N 52,500,000 52,500
= 35,000
Al 17,500
dEgoseld ns X 1,950 1,950 0
= 1,500
Al 450
308 AtAIEHMSOIE 1,950 1,950 0
= 1,500
Al 450
01 AXEN B EES 1,950 1,950 0
OoMegitEeltd ns X 1,950,000 1,950
= 1,500
Al 450
A=Y 54 72,000 72,000 0
308 AXIHSOIA 72,000 72,000
01 XN BSELES 72,000 72,000
OkA=sY 54 72,000,000& 72,000
SISO E 267,270 271,252 A3,982
Il 162,212
Al 105,058
308 AXIHMSO0IA 267,270 271,252 A3,982




SN S=AD
B Km0l AW B (SHUNSSM/ 5L - SE)
o9l TsDE #4835 N (cre:xigl)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
J| 162,212
Al 105,058
01 IXSHHBLERS 267,270 271,252 A3,982
Ot SOHME X 267,270,000& 267,270
| 162,212
Al 105,058
FaE S0E X 15,000 10,000 5,000
| 10,000
Al 5,000
308 AXISHMSOIA 15,000 10,000 5,000
| 10,000
Al 5,000
01 IXSHHBLEXRS 15,000 0 15,000
Os24E s0tE X3 15,000,000 15,000
| 10,000
Al 5,000
oy ZHH L5t 5,155,439 5,594,285 A433,846
J| 2,063,887
Al 3,091,552
SR 353 396,225 396,225 0
307 2I2+01™ 8,000 8,000
02 QIZHA A AL E X 8,000 8,000
Ottt Bt Mt =01 X2
8,000,000& 8,000
308 AHXIHMSOIH 388,225 388,225
01 AXSHHBLERS 388,225 383,225
Ogt2 I X& 236,975,000& 236,975
Ogte Bt =4 K& 121,250,000& 121,250
Oste 2100 =M X 30,000,000& 30,000
A AL} 1,166,661 1,158, 161 8,500
307 QIZ2t01A 20,000 20,000 0
02 QIZHBAAIEER 20,000 20,000 0
OFets0t ol 88X A8 X
20,000,000& 20,000
308 AHXIHM SO & 07,461 891,961 15,500
01 IXSHHBLERS 07,461 891,961 15,500
OJtx Moll28 It X2 (2IHEFRIH)
546,000,000& 546,000
OsdtER NasH X2 322,061,000& 322,061
O=F4t2l stot2iisl XA
25,000,000& 25,000
OFdsI ME2E201(8H) XA
14,400,000 14,400
403 REXISHHIS K201 & 239,200 246,200 A7,000




SN SEAD
Ho: f|oisel AW B (SAHALN/EY - BE)
Bl oy 33" Lt (EEEE))
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
01 AXIHNK2EE 239,200 246,200 A7,000
OZAMII Jt=THoH ol &Yl X3
40,000,002 40,000
OFEA =nY 84 K
42,000,000& 42,000
O=FALCCTV &% I 28,000,000 28,000
OFAt HD|HHe etdEH L XX
28,000,000 28,000
OAlg X&S=012] &% K&
52,000,000 52,000
OyzaY 84 39,400,000 39,400
OgE HeMZD &1 X
9,800,000& 9,800
YR T ALZ AL 223,025 598,025 A375,000
308 REXIHMSOIH 223,025 223,025 0
01 IXSHBLEERS 223,025 223,025 0
O=AMZ Sét X 200,000,000& 200,000
OHE S 2PENY B8 N
23,025,000 23,025
TAIE MAD|EE &5 1,448,400 112,000 1,336,400
| 772,000
Al 676,400
308 AHXIHM SO & 1,448,400 112,000 1,336,400
| 772,000
Al 676,400
01 IXSHHBAEERS 1,448,400 112,000 1,336,400
OXZAIE MAD|B &=
1,448,400,000& 1,448,400
| 772,000
Al 676,400
IAMZHAZ J|HEH 2R 140,000 140,000 0
| 56,000
Al 84,000
403 XX SHMS K201 ™ 140,000 140,000 0
| 56,000
Al 84,000
01 AXISHAE2ER 140,000 140,000 0
OZAt=Z ek JIAHEH 2 XI&
140,000,000 140,000
| 56,000
Al 84,000
SRFSANHE 1,200,000 1,152,400 47,600
| 900,000
Al 300,000
308 AHXIHM SO 1,200,000 1,152,400 47,600




FA SFLH
M 9=y J4Y 2 (sgildsd/sY - s&)
Rl Ay Y 25 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 900,000
Al 300,000
01 XN B2 LS 1,200,000 1,152,400 47,600
Ostnes 2X3A X
1,200,000,000& 1,200,000
Il 900,000
Al 300,000
0I5 22 X2 129,174 129,174 0
Il 64,587
Al 64,587
307 212+01& 129,174 129,174 0
7l 64,587
Al 64,587
02 LB HAHE L 129,174 129,174 0
OHERZH N2 129,174,000 129,174
Jl 64,587
Al 64,587
SEEX 4l NH 1,954 4,050 A2,096
Jl 1,300
Al 654
403 AXIEHHSAH=201H 1,94 4,050 A2,096
Jl 1,300
Al 654
01 AR A= 2 £ 1,954 4,050 22,096
OZEEIXl &4l XI& 1,954,000 1,954
Jl 1,300
Al 654
ZM20F ICT 8= A& 450,000 700,000 250,000
) 270,000
Al 180,000
403 MR EHSAHE01H 450,000 700,000 250,000
Il 270,000
Al 180,000
01 AR A =2 £ 450,000 700,000 250,000
OFLH20HCT 858 X2
450,000,000 450,000
Jl 270,000
Al 180,000
S=29 & =225 g9 Y 4,825,910 4,449,017 376,893
= 1,471,579
Il 545,547
Al 2,808,784
=EgEnsE X 777,965 692,105 85,860




FA SFLH
B F|oisel AW B (SAUHASM/ S - SE)
el SEEY ¥ SE2S 9 HF EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 424,108
Al 363,857
201 er23| 15,000 15,000 0
= 7,500
Al 7,500
03 A2 I 15,000 15,000 0
Ootageed 15,000,000& 15,000
= 7,500
Al 7,500
206 M=l 322,983 322,983 0
= 198,887
Al 124,096
01 MHZH| 322,983 322,983 0
OJIEHEE MY & JI4E Al
322,983,000 322,983
= 198,887
Al 124,096
308 AXIHSO0IA 439,982 364,122 85,860
= 217,721
Al 222,261
01 HAHHBSEXRS 439,982 364,122 85,860
O4 Ze o D22 Y|
190,800,000 190,800
= 63,600
Al 127,200
OSIT MIHHOIA Ol
72,000,000& 72,000
= 36,000
Al 36,000
OFME S=H 41,432,000 41,432
= 27,621
Al 13,811
OF&Xte (PS &2 HAIMAEX
20,250,000& 20,250
= 13,500
Al 6,750
OJ=&gze8 A& 9,000
oJl=sot 2gaelkd 4,500,000 4,500
= 3,000
Al 1,500
oHXNA~RLEE e XA
4,500,000& 4,500
= 3,000
Al 1,500




SN S=AD
B F|oisel AW B (SAUHASM/ S - SE)
el SEEY ¥ SE2S 9 HF (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O TED| YHA 24,000,000 24,000
= 16,000
Al 8,000
OSMz=22E 82,500,000 82,500
= 55,000
Al 27,500
IR 512,750 537,965 N25,215
= 370,65
Al 142,094
308 XXM SOIA 512,750 537,965 N25,215
= 370,656
Al 142,094
01 MRESHH B EES 512,750 537,965 25,215
ORI oAl pe(Fels)
111,286,0002 111,286
= 91,647
Al 19,639
OT NS oAl (SAS)
118,311,000 118,311
= 97,574
Al 20,737
OFNS HAHS 23K
14,108,000 14,108
= 9,405
Al 4,703
OT NS olgehal BSAl=HI(L)
192,045,000 192,045
= 128,030
Al 64,015
OF MG olgeasl dSAl=HI(SL)
77,000,000 77,000
= 44,000
Al 33,000
JIEEY oY 481,760 461,636 20,124
201 2= 3,860 7,236 A3,376
01 At2t2lt] 3,800 3,800 0
Oggt=3=H| 3,800
oJIEES EE=S 3,000,000& 3,000
oJIEEY dSHFZ MH
800,000 800
02 s3=gHl 60 60 0
OF4XE PSSel= 60,0002 60
206 MH=HI 50,000 50,000
01 MZH| 50,000 50,000




FA SFLH
B F|oisel AW B (SAUHASM/ S - SE)
el SEEY ¥ SE2S 9 HF EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O =R 2ayl 2L
50,000,000& 50,000
308 AXIHSO0IA 360,400 324,400 26,000
01 HAHHBSEEXS 360,400 324,400 26,000
OB&SI MU ZESTIAY|
45,600,000 45,600
OJt=dgd olgas1e X 177,000
OFEINEXAY LAE X2
177,000,000 177,000
OJ=2Y =8 ¢4 18,000,000 18,000
OQESHTHAZURH X2
64,800,000 64,800
OARtH 1312 LRI 25,000,000 25,000
OETYRZLE NA(FIEEXL)
20,000,000& 20,000
403 AXIEHMSA=Z01d 77,500 80,000 2,500
01 MXIHHA 22X 77,500 80,000 A2,500
O=etsot SF9A 4 &R A&
77,500,000 77,500
SSENE =29 385,420 371,301 14,119
Jl 256,947
Al 128,473
308 XXM SOl 385,420 371,301 14,119
Jl 256,947
Al 128,473
01 XN BSELES 385,420 371,301 14,119
OFAYMA=O|Y 2
385,420,000 385,420
Il 256,947
Al 128,473
Xz 24 486,000 360,000 126,000
= 432,000
Al 54,000
308 XXM SO0l 486,000 360,000 126,000
= 432,000
Al 54,000
01 HRHHBAEES 486,000 360,000 126,000
OJt= &X2 S Bds=s 486,000,000 486,000
= 432,000
Al 54,000
ccty S gt 25 21,600 21,600 0
7l 14,400
Al 7,200
308 XtXIEMSO0IE 21,600 21,600 0




FA SFLH
B F|oisel AW B (SAUHASM/ S - SE)
el S=249 2 S=25 9% Fat EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Il 14,400
Al 7,200
01 XN B2 LS 21,600 21,600 0
Ooggoluctx 21,600,000 21,600
Jl 14,400
Al 7,200
CERZAE AHBIXE 202,000 212,000 10,000
Il 121,200
Al 80,800
308 AFXIEHMSOIE 202,000 212,000 10,000
Jl 121,200
Al 80,800
11 S [2S0 e 4 A AS A 202,000 212,000 10,000
O==ZAE 28X 202,000,000 202,000
Jl 121,200
Al 80,800
AR QI2AHI XIS 255,000 245,000 10,000
) 153,000
Al 102,000
308 AtAIEHMSOIE 255,000 245,000 10,000
Il 153,000
Al 102,000
11 SI[2S0He 4 EAS A 255,000 245,000 10,000
Oz el 255,000,000 255,000
Jl 163,000
Al 102,000
gaxted FLXHA 20,000 0 20,000
= 20,000
403 AXIEHHSAH=201H 20,000 0 20,000
= 20,000
01 A= 2L 20,000 0 20,000
Oogaxty X 20,000,000 20,000
= 20,000
s==Xgy 205,000 190,000 15,000
201 er2 3| 10,000 10,000 0
01 AtR2telHl 10,000 10,000 0
OBHAZISIEAl EES M
10,000,000 10,000
308 AFAIEHMSOIE 195,000 180,000 15,000
01 AXHH B EES 195,000 180,000 15,000
RS2 254 € Z=2H XA
195,000,000 195,000
S=23 & SN 52,900 52,000 900




FA SFLH
B F|oisel AW B (SAUHASM/ S - SE)
el SEEY ¥ SE2S 9 HF EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 35,265
Al 17,635
308 XXM SO0l 52,900 52,000 900
= 35,265
Al 17,635
01 XN BSELES 52,900 52,000 900
ORdRIISE dcle=E HEXA
52,900,000 52,900
= 35,265
Al 17,635
2201 43 +==Hl N&A 202,500 200,960 1,540
= 81,000
Al 121,500
308 XtXIEMSO0IE 202,500 200,960 1,540
= 81,000
Al 121,500
01 XN B2 LS 202,500 200,960 1,540
OZ120l 435 Alstl X
202,500,000 202,500
= 81,000
Al 121,500
SHAS MAANSA SHet == N 19,200 96,000 A\T76,800
= 9,600
Al 9,600
308 XtXIEMSO0IE 19,200 96,000 AT76,800
= 9,600
Al 9,600
01 XN B2 LS 19,200 96,000 A\T76,800
Osdls dAMNEA Sd3t == A&
19,200,000 19,200
= 9,600
Al 9,600
tleisS=S 2eHdE 2 (1S MEAtY) 1,000,000 1,000,000 0
307 212+01™ 1,000,000 1,000,000
05 2IR”tRIE = 1,000,000 1,000,000
Otlelss 2=hE 2
1,000,000,000& 1,000,000
4= ==Hl & MEHIX2 4,315 2,950 1,365
= 2,200
Al 2,115
206 M=l 1,000 1,000 0
= 250
Al 750
01 M=4l 1,000 1,000 0




FA SFLH
B F|oisel AW B (SAUHASM/ S - SE)
el SEEY ¥ SE2S 9 HF EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=4tE =HHA AlZH| 1,000,000 1,000
= 250
Al 750
308 AXIHSOIA 3,315 1,950 1,365
= 1,950
Al 1,365
01 HAHHBSEXRS 3,315 1,950 1,365
OFME =HIA(R - 2) 3,315,000& 3,315
= 1,950
Al 1,365
UFAE AUZAE 2E 5,500 5,500 0
= 2,750
Al 2,750
301 EtE N = 5,500 5,500 0
= 2,750
Al 2,750
14 JIEt 243 5,500 5,500 0
Ol S4t2 ABTAR 2F4Y
5,500,000 5,500
= 2,750
Al 2,750
bleis2 AL 2stelE A—F(1EH HEALY) 100,000 0 100,000
207 ARl 100,000 100,000
01 H1E4H] 100,000 100,000
Ottelss d2d=2ay HE 31289
100,000,000 100,000
SXE I AMAEXCIAE X~ 94,000 0 94,000
= 94,000
403 X SHHMSAH=01H 94,000 0 94,000
= 94,000
01 MXISHH A =22 E 94,000 0 94,000
O&X™E = AHIXeIAIE X
94,000,000 94,000
= 94,000
g sits daesSHst 6,695,942 6,040,350 655,592
= 1,040,040
) 28,383
Al 5,627,519
D=0 Hab|et 25 2,100,525 1,631,425 569,100
308 AtAIEMSOIE 2,022,525 1,531,425 491,100
01 HASHHBSEXS 2,022,525 1,531,425 491,100
Olt+=SE A 296,100




A sFiH
Hr: T|oisel AW B (SRHALN/EY - BE)
Rl NS satE daRsSTst EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
ol==HollSHLS X2
296,100,002 296, 100
O Mol P2 N (RIINETA) 1,297,705
OSHSUHREE N (RNEEX)
1,050,000,000& 1,050,000
osYoIotMBE 2 X (2IAFXIH)
180,000,000& 180,000
o EIINESPER NA(RIEEA)
67,705,000& 67,705
O&NsLASE 338,720,000& 338,720
O=sdtg =& g4t N2
90,000,000& 90,000
403 MXISHMSKHE01 A 78,000 78,000
01 IXISHHAE2ER 78,000 78,000
OIlTesg Assh AIE6RA X
78,000,000 78,000
SEIZC SHGRA(HEAIY) 92,300 79,000 13,300
308 AXISHMSOIA 92,300 79,000 13,300
01 AXSHHBAEXRS 92,300 79,000 13,300
OZZELC 48T IE K&
25,200,000& 25,200
OZHEC 423524 & XA
20,000,000 20,000
OZZZEE oA A K&
47,100,000& 47,100
HIE A& W= K& 160,000 160,000 0
= 80,000
Al 80,000
307 212+01 A 160,000 160,000 0
= 80,000
Al 80,000
02 QIZtBAAIEER 131,200 131,200 0
OtIE aldg s X 131,200,000& 131,200
= 65,600
Al 65,600
03 IZIHXEE2IHIE X 28,800 28,800 0
Odrg Alde s K& AIE29h|
28,800,000& 28,800
= 14,400
Al 14,400
S HSSHEX XA 8,400 14,000 A5,600
= 4,800
Al 3,600
403 XIS HMSAHE0IA 8,400 14,000 25,600
= 4,800




FA SFLH
Hr: T|oisel AW B (SRHALN/EY - BE)
Chol: XS SA2 MALS S (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 3,600
01 A= 2L 8,400 14,000 25,600
OsJIHSSHEX FHAA
8,400,000& 8,400
= 4,800
Al 3,600
SAE AHIL 1] 82 K28 dEAY) 20,000 20,000 0
307 lztol & 20,000 20,000
02 2B YA HE X 20,000 20,000
Os4E 2HI3HYs X2
20,000,000& 20,000
TSSsua B XA 297,000 306,000 29,000
= 198,000
Al 99,000
308 AFXIEMSOIE 297,000 306,000 /9,000
= 198,000
Al 99,000
01 AXH B2 LS 297,000 306,000 29,000
OZSESDA YA XL
297,000,000 297,000
= 198,000
Al 99,000
P Ot E4 KIE 36,210 38,700 A2,490
= 24,140
Al 12,070
308 AFXIEMSOIE 36,210 38,700 A2,490
= 24,140
Al 12,070
01 XN EES 36,210 38,700 A2,490
OGP 15t HE Al X
36,210,000 36,210
= 24,140
Al 12,070
NS sHFe=E 2 & 82 243,000 112,000 131,000
201 er2 3| 193,000 62,000 131,000
01 AtR2t2|HI 7,000 7,000 0
Odgt==H| 7,000
osSttE EE2 MH 7,000,000 7,000
02 S5=24g4l 186,000 55,000 131,000
Os+MSEERSHH DERLSLD
86,000,000 86,000
Os=MESYRSUEH AIEE |X2c
100,000,000 100,000
307 21201 & 50,000 50,000 0




FA SFLH
Hr: T|oisel AW B (SRHALN/EY - BE)
Chol: XS SA2 MALS S (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 2IHBHAIHE £ 50,000 50,000 0
OsS¢E Ad gdat N
50,000,000& 50,000
D= AL SO K& 10,500 12,250 A1,780
Jl 6,000
Al 4,500
403 AXIEHMSAH=201H 10,500 12,250 A1,750
Jl 6.000
Al 4,500
01 AR A =2 £ 10,500 12,250 A1,750
Ol dAAIE B3 XA
10,500,000& 10,500
Il 6,000
Al 4,500
SY=0F OIHX 2ZAE X2 19,812 13,748 6,064
) 12,383
Al 7,429
403 AXIEHMSAH=201d 19,812 13,748 6,064
Il 12,383
Al 7,429
01 AXISHHA2EE 19,812 13,748 6,064
O=A20F MUK Z2AAE K&
19,812,000& 19,812
Il 12,383
Al 7,429
A& =2t 528,100 614,647 86,547
= 528,100
201 el 23,580 19,480 4,100
= 23,580
01 At 2|l 23,580 19,480 4,100
SHEER=1] 15,980
0BIIZ0 LHE S oI
4,600,000 4,600
= 4,600
0ESASH 7Y 6,000,000 6,000
= 6,000
o ZRYRAUL ARE 7Y
5,380,000& 5,380
= 5,380
o=l 7,600
od=ae| SAHL SEH|
7,600,000 7,600
= 7,600
202 04| 4,520 4,520 0




FA SFLH
Hr: T|oisel AW B (SRHALN/EY - BE)
Chol: XS SA2 MALS S (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 4,520
01 2L AL 4,520 4,520 0
Ozt 3,200
eI 2e| 2N 3,200,000& 3,200
= 3,200
OZ2l0itl 1,320
o FRU=ael 220 1,320,000 1,320
= 1,320
308 XM SOIE 500,000 590,647 A90,647
= 500,000
01 HXEHH B EES 500,000 590,647 A90,647
O=AE gFacl &= =il X3
500,000,000 500,000
= 500,000
X & AHl ST (MEALY) 365,325 207,181 148,144
308 XXM SOIA 316,125 207,181 108,944
01 XN BSELES 316,125 207,181 108,944
Oseka ZZ X 32,000,000 32,000
OS3HI=E s =% XA
11,125,000& 11,125
OLNZE B HX =42 XY
154,200,000 154,200
OH =0 =&Hl N& 38,800,000& 38,800
OAAHZOl XA AH|AHM XIR A (BHAI)
80,000,000 80,000
403 AXIEHHSAH=201H 39,200 0 39,200
01 XIS A=E £ 39,200 0 39,200
OGAPRIE DIRSEXNY HES
39,200,000 39,200
Zletd stugs ASHl A 2,495,770 2,495,770 0
201 er23| 770 770
01 At2teltl 770 770
Os I MolSiws A ey
70,0002 11213 770
308 AtAIEHMSOIE 2,495,000 2,495,000
01 HAHHBSEXS 2,495,000 2,495,000
OR+sttE stugal Al3H X
2,495,000,000& 2,495,000
FTA AtZHE =& & 22l 10,000 17,000 A7,000
Il 10,000
201 fet=3| 1,000 5,000 4,000
Jl 1,000
01 At2teltl 1,000 5,000 24,000
Ostt= g2 & 1,000,000& 1,000




FA SFLH
Hr: T|oisel AW B (SRHALN/EY - BE)
Chol: XS SA2 MALS S (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 1,000
202 04| 3,000 5,000 /2,000
Jl 3,000
03 =2AZ 0| 3,000 5,000 A2,000
OFTA At =& o2l == 3,000,000& 3,000
) 3,000
307 elztol & 6,000 6,000 0
Jl 6,000
02 LB AANHEE 6,000 6,000 0
OaALEIEY 28 L 22|
6,000,000 6,000
Jl 6,000
ANl HsE 243t XIE 91,000 91,000 0
= 42,000
Al 49,000
308 XXM SOIA 51,000 51,000 0
= 42,000
Al 9,000
01 XN BSELES 51,000 51,000 0
OMEIX s 2435 X
51,000,000& 51,000
= 42,000
Al 9,000
403 AXIEHMSAH=201H 40,000 40,000
01 AR A =2 £ 40,000 40,000
OXg sit2 s X3
40,000,000 40,000
= S OIMEX N2 K2 228,000 228,000 0
= 163,000
Al 65,000
308 AXIHMSOIA 228,000 228,000 0
= 163,000
Al 65,000
01 HASHHBAEEXS 228,000 228,000 0
Ok= s2IH DIMEX MBUEH XA
228,000,000 228,000
= 163,000
Al 65,000
A2 ZHI(S=4) (OIEHIIE 184,588 178,352 6,236
elIE =g 162,491 156,255 6,236
olE =gl 162,491 156,255 6,236
101 212A4H| 162,491 156,255 6,236
01 2= 162,491 156,255 6,236




SN SE4D
A HHRHHHI(=S4) (OIEHDIE)
Chel: ol CERE)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
o= 162,491
0 ZU2RLY 162,491
NEEEESS
12,3213 x22B 42 A 2H+ 12F 136,616
COISYSA(RHY AL HAZ2R
12,3212 x7B+25 A 2t 12E 25,875
f=pls]l 22,097 22,097 0
J|1E23&| 22,097 22,097 0
201 B2 AY| 12,697 12,697 0
01 At=R2teld| 12,697 12,697 0
OJ|Z2Ar222|d| 20,0002 234+ 122 5,520
O=&| 4,466,000 4,466
O=AD gtz 200,000& =12 2,400
OF=D| gtz 25,840+ 12& 311
202 bl 1,000 1,000
01 =LHO4 b 1,000 1,000
OZLH0HI 1,000,000& 1,000
203 AR F&lY| 4,200 4,200
M EAN2LHRFA| 4,200 4,200
ORAN2ILRF&I 350,000& 12 4,200
204 AP AH| 4,200 4,200
01 MM Z R+ AL| 4,200 4,200
O=sF4tHE 350,000 <12 4,200




